MTH 202: Exam 1 Name: l< QJ
Time: 30 minutes

Use of notes, note cards, cellphones or PDAs are not allowed
during the quiz.

(1) Find the area of the triangle with vertices (2, —3,0), (1,4,5) and (7,2,9)
using vectors. Show all your reasoning, in a step by step manner, which leads to the
logical conclusion.
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(2) Find the directional cosines of the vector < 2,4,1 >.
Show all the reasoning, in a step by step manner, which leads to the logical conclusion.
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(3) Find the point where the line which passes through the point (3,5, —1) and is
parallel to < 1,1, —1 > pierces the £z—plane. Show all your reasoning, in a step by
step manner, which leads to the logical conclusion.
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(4) Find the equation of the plane containing the points (1,1, 3), (3,3, 5), and

(1, 3,6). Show all your reasoning, in a step by step manner, which leads to the logical
conclusion.
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(5) Find the vector equation of the line of intersection of the planesx +y + 2 -4 =0
and 22 — y + 2z — 2 = (. Show all your reasoning, in a step by step manner, which

leads to the logical conclusion.
X +\1 +2E-4=6 and

2.)&-8 + Z _zgo.
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(6) Find the sine of the angle between 7 =< 2,1,1 > and 7 =< 1, —1,3 > Most
simplified exact numerical answer is requried. Show all your reasoning, in a step by step
manner, which leads to the logical conclusion.
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(7) Transform the equation 2z = %(:1:2 + y2) from rectangular coordinates to spherical

coordinates. Show all your reasoning, in a step by step manner, which leads to the
logical conclusion.
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(8) Find the point of intersection of thelinex =3 —¢, y=95+4+3f, 2 = —1 — 4t and
the line x = 8 + 2¢, y = —6 — 4¢, 2 = 5 4 1, if they intersect. If not, then decide if
they are parallel or skew. Show all your reasoning, in a step by step manner, which
leads to the logical conclusion.
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(9) Sketch the graph of the vector valued function 7(t) =< 2 —sint, 3 + cost >,
0 <t < 27 accurately. Describe the graph in words precisely. Show all your reasoning,
in a step by step manner, which leads to the logical conclusion.
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(10) Name and sketch the quadric surface 2 — y? + 2% + 2y = 1. Make your sketch
more accurate by identifying the necessary points on the surface. Show all your
reasoning, in a step by step manner, which leads to the logical conclusion.
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